RATIO AND PROPORTION

Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non-Calculator) Higher Tier

10 6:15:20 P1 chooses a multiplier to equate the two fractions in terms of b
ez 2.3 byor 3,515,
5 3 15 4 5 20
or lists equivalent fractions to 2 up to at least s, eg. E) i .....
5 15 5 10 15
or lists equivalent fractions to 3 up to at least 5 eg. 3, E! .
4 20 4 8 12 16 20
or{a:b=)2:5and(b:c=)3:4
or for 6 : 15 or 15 : 20 seen
Pl puts into related terms ready for ratio eg 2. 3=C%ana32,3-15 Need not be written in ratio form
5 3 15 4 5 20
orfor(@:b=)6:15and (b:c=)15:20
or lists equivalent ratios up to a common element for b,
ega:b=2:54:10,6:15andb:c=3:4,6:8,9:12,12:16,15:20
Al for6:15:200e Accept equivalent ratios
Accepta=6,b=15and c=20

Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

2.
3 No [Pl | for 3000 = (2 + 3) (= 600)
(supported) Pl for “600™ = 2 (= 1200} or “600™ = 3 (= 1800)

or “600" = 6 (= 100) or “600” = 20 (= 30)

Pl for #1200 + 6 (= 200) or “1800™ = 20 (= 90)
or “100” = 2 (= 200) or “30” = 3 (= 90)

Pl for *90™ <+ (*200™ + *90™) = 100 (=31.0...) oe Full method to compare
or “90" + (*200™ + “90™) (= 0.31...)
or 0.3 x (“200™ + “90™) (= 8T)oe

Cl correct conclusion and fully correct calculations with accurate figure No working, answer only no marks
eg No and 87 or No and 31% or No and 0.31 No may be implied by a statement

Pearson Edexcel — Monday 8 June 2020 - Paper 3 (Calculator) Higher Tier

3.

(a)

(b)

Pl

Al

izt

Pl

Al

for start of process,
eg isolate terms in ¢, eg 4¢c = 3d

. 5¢ c
or divide all terms by d. cg ?+ 1= E+ 4

for3:4

for start of process:
to take all terms to one side eg 6x* — Txy — 200 (=0)
or divide all terms by 32, eg 61: = T—‘? + 20:

¥ ¥ ¥
or substitute a value of x (x > 0) or a value of y (¥ > 0) into the equation,
egx=>5, 150 =35y + 20/*

for sccond step in process,

eg (Ix-59)(3x+4y) (=0) or fap: —Tp-20(=0) (where p =% )
_\-

or 20)* + 35y - 150 (= 0)

5:2

Accept any equivalent ratio orc= 3, d =4

. . 2
Accept x = 5, y = 2 or cquivalent ratios,eg, | ig




Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Higher Tier

4.
‘6- ] éﬁ . Pl - for process to find the ratio oflh-e nL[r-nb-er 6f pens of each colour sold, Does not have u; be s-eer-l a-s.a}:a.liﬁ .bu( all three
eg2=xT:5%x3:60%x4 (=14:15:24) needed
Pl for process to find the proportion of green pens sold,
212 24
eg
B e L e R
Pl for a complete process to find the number of green pens sold, P3 can be implied by the values 56, 60 and 96
212 "4
eg x 24" %212
T4 52 "4 524
Al cao

Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Higher Tier

5.
17 -1,25 x 1
Pl for process to form an equation, eg ——=— or 2x*=3x+ 5
3x+5 2
Pl for writing in a suitable form ready for solution.
eg2 —3x—-5(=0)or-2x*+3x+5(=0)
Pl (dep 1st P1) for process to solve quadratic equation of form
a4+ b +e(=0)
eg (Lx—S)x+1) (=0)
—344J(-3)* —4x2x-5
or
2x2
Al for—1,2.50e

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier

6.
3 (1) 65 M1 for working with proportion eg 10 + 30 < 195 (=65) Condone use of 200 for 195
Al cao
(ii) statement Cl1 for statement

Acceptable examples

sample is representative (otherwise answer wrong)

random sample (otherwise answer will be different)

the 30 students are from the 195 (otherwise not accurate)

10 out of every 30 want to go to the Theme Park (otherwise answer will
be different/'wrong)

there is no bias

Not acceptable examples
There would be more than 10 people who want to go to the Theme Park
1 rounded my answer

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier

7.




168

Pl

Pl

Pl

Al

for working with ratio to find the amount for C or D
egl.5x2(=3)or(A,B,C,D=) 2.7.3,30¢
OR for suitable expressions linking A withCorD, eg. A=x, C=1.5x

for“2+3+3+7"(=15)
OR adds 4 suitable expressions, eg. “x + 3.5x + [ 5x + [.5x" (= 7.5x)

for a complete process to find the amount of money
eg 360 = “157% 7
OR 360 + *7.5" % 3.5

cao

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier

8.

(a)

(b)

100 : 81

M1

Al

Pl

Al

for a scale factor of 0.9 oe used;
OR for 10: 9 oe

OR 81 : 100 oe

OR 81%

for 100 : 81 oe

for 1.44 oe used as the scale factor or 1.2 oe

OR for 144 : 100 oe or /144 : 4100 oe

OR5:60e

for6:5o0e

eg. 1 : 0.81], accept 1.23(4...) : 1

eg 1.2: 1, accept 1 : 0.83(3..)

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier

9.
20 (a) 2a Ml fora-b+a+b(=2a)
Al cao
(b) 4 Pl for a process to find MF=—0.5b—a—(a—b) (=0.5b—2a) Accept ft from (a) providing vectors are clearly

orCE=a+b stated
or FM = a—b+a+0.5b (=2a—0.5b)

Pl For finding a suitable vector expression for two of (CE orrC)A X = %a - 2(’:‘12” XE =ﬁ a+ 2(""“)
(CX or XC) or (EX or XE) XC=1"a4+ —n—ib Fl=2g=_nm
eg. CX = a+0.5b+ ——(0.5b-2a) or CX =-a+b+——2a-0.5h) nes 2 (e RELT 2GH)
XE =— (2a—0.5b) + 0.5b or XE = ——(0.5b - 2a) + 2a or
XC =—H0.5b-2a)yta-b or XC=——(2a-0.5b)-0.5b—a or
e s 1 = TV — ERG
EX =-0.5b E((I.Sb 2a) or EX=-2a n—H(Zn 0.5b)

Pl for complete process to equate the coefficients of a and b

n-1_ n+2
g m i 2(n+1)
Al cao

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier

10.




Pl

Pl

Pl

Al

2
process to find ratio of lengths A:B = y#:4/Z5 (= 2:5 or T or 2, 5)

3
for process to find ratio of lengths B:C = ¥27: V64 (=3:4 or g or 3,4)

for process to write as one ratio
cg. finding a common multiple of 3 and Sor 6 : 15: 20 0e

cao

Accept working in fractions for the award of
process marks but the final answer must be in
correct simplified ratio notation

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier

11.
21 4 P starts process eg AB= b—aoe
Pl . ==t 1 . 1
for process to find OM = a + < “(b-a)oe (=Z(a+b)
Pl — - f— 1
for process to find AP=-a+ = “(=a+ —b)" ce
5 2 2
or (indep) for AN=—a+“kb
i process to find “k” using E =—a + “k"b as a multiple of AP
Al cao
ALTERNATIVE
Pl for producing OM to C such that AC is parallel to OF Formal geometric reasoning relating to
Pl for process to show that MC = OM, using congruent triangles ACM and BOM | congruent and similar triangles is not
for process to find PC as a multiple of OM/5 (= TOM/5) required
Pl for process to find ON as a multiple of AC(OB) (= 308/7) using similar
Pl triangles ACP and NOP
Al cao

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier

12.
17 H | Pl for associating algebraic expressions with the correct ratio
eg p—S5:g-5(=5:Dorp+20:4g+20 (=5:2)
Pl % p+20 5 p-5 5 Award for one of the two simultaneous equations
o 4‘+29_E“r G—S_Toc eg 5g —p=20, 5g—2p=—60 oe
orp—5=5(g— 5)or2(p+20)=5(g +20) oe
M1 for a complete method shown to find p or ¢ Award for a simultaneous equation method to
eliminate one variable leading to either p = 80 or
g =20
M1 for a complete method shown to find p and g Award for a simultaneous equation method to
or two values for p and g that are in the ratio 4 : 1 or an unsimplified eliminate both variables leading to either p = 80
ratio 4 : 1 (eg 8O : 20) or an answer of 1 : 4 and g = 20
Al cao

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier

13.
2 140 Pl for beginning to solve the problem 80 may be seen in the ratio 80 : 50
egS50+5=8(=80)or 14:8:50eor 14: 8 and 8 : § e (linked)
Pl for a full process to solve the problem
eg “807 =4 =7 or % =147 or 140 : 80 : 50
Al caop If 140 clearly identified as houses in
working award full marks




Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier

14.

P1 for process to find 20% or 120% of the cost, When partitioning all figures quoted
eg 8500 = 0.2 (= 1700) oe or 8500 = 1.2 (= 10 200) ce must be correct or a full method shown
eg 10% = 8500 + 10 (=850) and 20% =
“B507 + “B507 (=1700)

|

. 3.

P1 for process to find total cost of payments,
eg 12 = 531.25 (= 6375)

P1 for complete process to find value of deposit, May be seen as a fraction of the total eg
eg “10 200" — “6375" (= 3825) or 3825 = 3
8500 — 63757 ( =2125) and “21257 + “17007 ( =3825) oLl
; : "6375" _3
OR the deposit as a proportion of the total cost, eg | — S irag (—3}
P1 for finding a correct un-simplified ratio, Figures at this stage must be expressed as
eg “38257:“6375" oeor 53 or L6 1 or =: | part of a ratio
3 35
eg 51:85, Sia
Al Accept 1: L6 1:3 Ignore consistent units

Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier

15.

12 BDAC B2 all correct

(B1 for at least 2 correct)

Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier

16.
2 14:21:42 Pl for 2 out of 3 expressions in one letter eg from x, x+7 2x+14 or see a set of numbers
to show interpretation of the relationships, eg 10, 17, 34
Pl (dep) for sum of their 3 expressions =77 eg x + x+7+2x+14 =77 oe or 2 systematic
correct trials including addition
Pl for a correct process to isolate their term in x or x=14

Al for ratio 14:21:42 oe

Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier

17.
14 = X(k+D) M1 y+x=kiy—x) or ZX=k oe
k-1 ¥-=x
ky—y=x+kx MI For isolating x and y on opposite sides eg kv —y=x + kx
k= 1)=x(1+k)
Al Completing correct algebraic reasoning to reach conclusion

Pearson Edexcel - Wednesday 8 November 2017 - Paper 3 (Calculator) Higher Tier

18.

I 4 I I 15 I Pl I strategy to start the problem, eg 8:20 and 20:5

Pl 5
process to solve the problem, eg ﬁ>< 100 0or 24:60 : 15

Al caop



Pearson Edexcel - Wednesday 8 November 2017 - Paper 3 (Calculator) Higher Tier

19.

14

Shown

MI

MI

Al

for ‘-i{= E]or ‘£{= i}0r2'.30r3:2
V27 3 V8 2
2 4 V2 9
for ‘-i (=—}0r(1"£J (=—)ord:%or9:4
27 9 ¥ 8 4

132 from correct arithmetic

Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier

20.
14 1 3. 4. 1% 2 ‘ S En 3 .
o Pl process to solve the problem e.g. — x —={=—=-—)0OR finds the number of white circles for their
3 10 9° 90 15
chosen number OR for 9 : 21 (or a multiple of 9 : 21)
Pl . T 4.2 4] " . . n
second step of the process e.g. —x—(=—=-—=—) OR finds the number of black circles for
10 7 70 10 35
their chosen number OR for a multiple of 2 : 5 where the ratio parts sum to “21”
w2l 4 o6 . i .
Pl for complete process e.g. T + = :ﬁ+ﬁ OR finds the total number of circles for their
chosen number OR for 3 ratios that could be used to solve the problem
eg9:21 withd: 5 with 6:15
1
Al for E oe

Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier

21.

19

- = -~ 1 1
for first step to solve the probleme.g. AC=-a+cor OX = Ea + Ec or demonstrates the

2 Pl
B location of D and .X on the diagram
Pl - ~ = = —~ - - 7
for a correct vector statement using CD eg CD = CX +XD or CD =0D -0C or 0D = EE
or CD =25¢coe
Pl for a correct equation or ratio using k eg equating XD =3¢- %a = % (-ate)+ —¢
r i’?:ﬂ or k :L or using a ratio approach eg (OC:CD)=k:1=1:25
oc & .
Al cao
Pearson Edexcel - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
22.
12 3: Pl Makes a start e.g. by using multiplierseg. | +5=6and 7+ 11 =18and6 = 3=18 or
AB:BD = 3:15 or x=3y (appropriate x and y shown) nré =1'—;
Pl Complete process to find ratios e.g. (7+ 11) = (1 +5)=3 and
15377 =("3"=1):11
Al oe

Pearson Edexcel - Specimen Papers Set 2 - Paper 2 (Calculator) Higher Tier

23.




6:5=12:10
2:1=10:5

C:S:P=12:10:5

19189
27

70 P1

Pl

Al

P1 for strategy to start to solve the problem
eg12:10and 10: 5

P1 for process to solve the problem
10

cg > % 189

Al cao

Pearson Edexcel - Specimen Papers Set 2 - Paper 2 (Calculator) Higher Tier

24,
21 2x-1 _16x+1 I P1 for process to write as an equation

x—4  2x—1

2x-1P=(6x+1)(x-4) Pl for process to clear the fractions
12x*-59x-5=0 Pl for process to write equation in form

ax*+tbx+c=0
(12x+ 1) x-5)=0 P1 for process to solve the equation
Al cao

Pearson Edexcel - Specimen Papers Set 2 - Paper 3 (Calculator) Higher Tier

25.

1

171 P1
P1
Al

for process to find one share
for process to find total
cao

Pearson Edexcel - Specimen Papers Set 2 - Paper 3 (Calculator) Higher Tier

26.
0 - 1:2.53 P1 for substituting values to find surface gravity of
either Earth (= 9.805..) or Jupiter (=24.796..)
P1 for complete process
Al for 1:2.528 to 2.53

Pearson Edexcel - Specimen Papers Set 1 - Paper 1 (Non-Calculator) Higher Tier

27.
10 (a) 5 P1  begins to work with scaling factors (eg 5) or =6
Al cao
(b) 10 Pl works with 1:2 ratio eg no. red counters is 30+2 (=15)
Al f

Pearson Edexcel - Sample Paper 2 - (Calculator) Higher Tier

28.




96

Pl a strategy to start to solve the problem eg 18 = (7 — 4) (=6)
Pl for completing the process of solution eg “6” = (4 + 5+ 7)

Al cao

Pearson Edexcel - Sample Paper 2 - (Calculator) Higher Tier

29.

M1 for correct interpretation of any one statementeg. 3:1;1: 0.5

Al accept any equivalent ratineg. 3 : 1 : 0.5

Pearson Edexcel - Thursday 9 June 2016 - Paper 2 (Calculator) Higher Tier

30.

(a)

(b)

480

MI for 720 : 540 oe or for3:4or1::—0eor%:loe

Alford:3or %(orl._’»}..,.):lor 1: ; (or 0.75)

3 2
M1 for 720 + 3 (= 240) or scale factor of E or Eoe or 720 : 480

Al cao

Pearson Edexcel - Wednesday 4 November 2015 - Paper 1 (Non-Calculator) Higher Tier

31.

20

3 MI for 330120 (=2.75) or 200=60 (=3 1/3) or 450 +180 (=2.5)
MI for 450180 (=2.5) AND 8x*2.5"

Al cao

OR

MI for 120+8 (=15) or 608 (=7.5) or 1808 (=22.5)

MI for 330=(120=8) [=22] or 200=(60+8) [=26.6..] or 450+(180
Al cao

OR

M1 for multiples of 120:60:180

MI1 for multiplication linked to 450 and 8+8+4

Al cao

=8)

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier

32.
20 n2%x2=8n 36:37 4 M1 method to find relative cost of design A e.g. m2%, k = 12*
TP S L M1 for a complete method to find the relative cost of the watch face
4" 380 20 3 340 2
87 —n for design B e.g. 12%—x =+ a2¥x—x —
9 360 5 360 S
72:74 MI (dep on M1, M1) for the cost of design A: cost of design B
o Al cao
' Or
20 340 37
ve0 i T 20 340
'"?’L:'w 6018 M1 for method to find fraction of the sectors in design B ——
13 360 360
36:37 M1 for complete method to find the relative cost of the watch face for

design B
M1 (dep on M1,M1) for the cost of design A: cost of design B
Al cao




Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier

33.
8 68 3 MI for 153 = (4 + 2+ 3) (=17)or for a correct method to scale up
4 to at least 44:22:33 without error
51 M1 (dep M1) for 17" = dor “17" = 20r 17" = 3 or for a complete

method to build up to 68:34:51 with at least two of these values
correct
Al for 68, 34, 51 in any order

{If M0,SC B2 for two correct lengths)

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier

34.
2 (a) 12 i 3
M1 for 32<8 (=4) or gx 32 oe
Al for 12
(b) 36 M1 for correct method to find 45% of 80
Al cao

Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier

35.

N 14
28% or ﬁ

MI for 100 30(:?0)m1—%(=f—0)
M1 for “70" (3 +2) (= 14) or

wTns(342) (=L
506 (=55

MI for “14” x 2 or o= 2
Al for 28% or — oe
OR
M1 for a correct method to find (100-30)% of any actual sum of
money
MI for “350™ = (3 + 2) (=70)
M1 for “70” = 2
: gt
Al for 28% or o0 e
OR
M1 for starting with two numbers in ratio 3:2, eg 21 and 14
M1 for equating sum of their numbers to 100 — 30 (=70%),
eg ‘21" + 147 (=33)
M1 for scaling sum of their numbers to 100%, eg *35™<70=100
(=50)
: , 14
Al for 28% or o oe

; < ’ 28
SC: award B3 for oe answers expressed In an incorrect form eg =]

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier

36.




240

M1 for 16 = 2 (= 32 girls)

M1 for 16 + *16 = 27 (= 48)

M1 (dep on the previous M1) for (16 + 327 )= 5 or
(l6+327)=(4+ 1)

Al cao

OR

M1 for 1 :2=3 parts

M1 for 5 schools * 3 parts (= 15 parts)

M1 (dep on the previous M1) for *157 parts = 16
Al cao

SC B2 for 176 given on the answer line

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier

37.
13* 180+9=1:180=9=3:180=9 No + reason M1 for 180 + (1+3+5) (=20) or 3 multiples of 1: 3: 5
=5 M1 for 1="207 or 3=7207 or 5=7207 or 20 seen or 60 seen or 100
=20:60:100 seen

Not enough cement
{but enough sand and
enough gravel)

OR

1x15:3=15:5<15
=15:45:75
15+45+75=135 (<180)
Not enough cement (to
make 180kg of concrete)

Al for (Cement =) 20, (Sand =) 60, (Gravel) = 100

Cl  ft (provided both Ms awarded) for not enough cement oe
OR

M1 for(1=15and)3=15and 5%15 or 9=15 or sight of the
numbers 15, 45, 75 together.

M1 for *15" + 45" +*75°

Al for 135 (<180)

Cl  fi(provided both Ms awarded) for not enough cement oe

Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier

38.

19

16 metres: 8 x 10° km.
16: 8 = 10%« 1000
16: 8 = 10"

1: 5= 10"

OR
2mto 10" km

2m to 100 000 000 000m
lm to 50 000 000 000m

1: 5= i{i'é' -3 \-'“ (inﬂepj correct melhod- to convert to

consistent units

Bx 10"
6 '
5% 10" ocors = 10" oe

Ml {units may not be consistent) or

Al 1:5% 10" or 1: 50 000 000 000
OR

M1 (indep) correct method to convert to
consistent units

M1 to 10"

Al 1:5= 10" or 1: 50 000 000 000

Pearson Edexcel - Friday 2 March 2012 - Paper 3 (Non-Calculator) Higher Tier

39.

10

2x5:3=x10=10:30=1:3

MI2=x5:3=x100r2x=1:3x2or sightof 10 and 30 or
10p and 30p

Al for 1:3cao
(SCBlfor3:lorlp:3porl0:300r5:150r 10p: 30p)




Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier

40.
12 45+(2+3+4) Ann £10 M1 for dividing 45 by the sum of the ratios 2 + 3 + 4
Bob £15 M1 for multiplying “5” by 2 or 3 or 4
Cath £20 Al for Ann £10, Bob £15, Cath £20, condone missing £

signs

OR
M1 for realising of 2 or 3 or 4
ngr O wgr U nge
M1 for multiplying 45 by 2 or 3 or 4
plying 45 by S5 or S5 or <5

Al for Ann £10, Bob £15, Cath £20, condone missing £
signs

NB: Award MIMI1AO for 2 out of 3 answers on answer
line or 10 : 15 : 20 seen as final ratio

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier

41.

24 2 2

36

M1 for 24 :2 or %x24oe or 12

A1l cao

Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier

42,

13

180+9
204

(=20)

80

M2 for 180 =(2+3+4)=4 or 40, 60,80 seen
(M1 for 180 =(2+3+4) or 20seen
Al cao

OCR GSCE - Tuesday 3 November 2020 — Paper 4 (Calculator) Higher Tier

43,




2 [n] 15 [m]

M3 for a fully correct method e.g.

25x 3053

270 5
OR
M2 for three correct steps from

405 3 405
2.5x% x— e.g. 2.5x jx'_’v

270 5 270
OR
M1 for one correct step e.g.

270 270 405
@, —, —, 2.5x3, 150x3, E —_
25 150 3 5 270

405
or —
5

if MO or M1 scored allow SCA for their final
time as a decimal hour or their final time in
minutes correctly converted to hours and

M3 implied by 2.25, 2 [h] 25 [min] or
135 nfww

note : (405 - 270 or 270 + 2 )= 135 =
2[h] 15[min] scores MO

M2 could be implied by 180, 11.25,
675 or 3 nfww

M1 could be implied by 108, 1.8, 90,
7.5,450, 0.6, 1.5 or 81

allow alternative methods

minutes e.g. 2.3333[h] = 2[h] 20[min]

OCR GSCE - Tuesday 3 November 2020 - Paper 4 (Calculator) Higher Tier

44.

16

50
¥ =—final answer
P

M2 for 2 = :—;or better

OR
k

M1 for ¥ = —-oe or B1 for [k =] 50
o

Condone proportionality symbol for
equals in M1

OCR GSCE - Thursday 5 November 2020 — Paper 5 (Non-Calculator) Higher Tier

45,
3 (a) 5 2 BA1 for 225 [ min] or for 0.75 and 3.75 oe
seen
3 |(b) 2 16
9416 xKlor g ¢ [x k| oe or M1 or [60% =] 0.6 oe Where k is a chosen value
better
P M1 or 0.6 x k oe
Correct methed to convert their implied by 64, 0_64,ﬂ, 15 and all imply
fraction to a percentage or a 100
fraction with 100 as denominator previous M1
or a decimal k is same value as used previously. Same
or correct method for 60% of 25 k must be used in both parts to get this
second mark
64 60
A1 eg 64 >60 accept 0.64 and 0.6[0], — and — or

64[%] or 15 or a pair of other
correctly calculated comparative
values with a correct conclusion
and no error seen

64%, so Reece is correct

100 100
equivalent fractions with same denominator
or with correctly evaluated values from
using k




OCR GSCE — Monday 9 November 2020 - Paper 6 (Calculator) Higher Tier

46.

12 6x
Z=Exorz=—
5

B3 for a correct equation involving just
x and z but not in required form

OR

B1 for y = 6x oe

B1 for y = 5z oe

M1 for a correct equation involving
just x and z using their two equations

OR

B1 for y = 60 when z = 12
B1forx:[y:]zis10:[60 12

M1 for a correct equation involving
just x and z using their triple ratio or
their two ratios with a common y value

If 0 scored
SCA1 for y = kx and k = 6 found oe
or for y = kz and k = 5 found oe

Condone « for = in B1 marks and
SC1 but not at B3 or full marks

5z
e.g. 5z=6x, orx= ?

Their two equations of the form
y=axoeand y = bz oe

Allow B2 for other triple ratios of the
form 5k : 30k : 6k or two correct
ratios with a common y value

OCR GSCE — Tuesday 5 November 2019 — Paper 4 (Calculator) Higher Tier

47.
1 Correct working leading to M1 for unit calculatione.g. 48 + 3 Accept any correct method e.g.
correctreasone.g. M1 for scale factore.g. 80 x 16 possiblyin one stage | M1 for 48 + 3 soiby 16
yes M1 for first conversion e.g. 1280 + 60 M1 for 80 x their 16 soi by 1280

and 21.[3..]and 24
or 1280 and 1440
or [80 and] 90
or 2.6[..] or 2.7 [and 3]
or7[1.] and8

M1 for second conversione.g. 3 x 8 possiblyin one
stage

A1 dep on M3 or M4for "Yes' and two correct
comparative figures

M1 for their 1280 + 60 soiby 21.33...
M1 for 3 x 8 soiby 24
A1 for yes and 21.33... <24

Allow 21 hours 20 minutes

OCR GSCE — Tuesday 5 November 2019 — Paper 4 (Calculator) Higher Tier

48.




4 (a 50 * 30

20230 1x1, 201 3]
1+2+3

2x250=500

Acceptany correct method e.g.
M1 for —— =2

14243 6

M1 for 2 x 50 or 50/3
M1for:—°><30=500
Alternative method
M1for30+6 =5

M1 for their (30 + 6 ) x 2
M1 for 50 x 10 = 500

watch for wrong method
50x 20 =1000.
1000+2 =500

Mark to candidates advantage

) 32

M1 for @ or ﬂ or E
25 20 15
M1 for their 10 x 5.5[0] or their 25 x 2[.00] or their

50 x 3.9[0]
M1 for their 10 x 5.5[0] + their 25 = 2[.00] + their 50
= 3.9[0]

M1 for 396 396 — their 300

or
their 300 their 300
Alternative method

M1 fo By — Lz
M O 4

396
50

ar

M1 for 5.5[0] = their [0].2 or 2[.00] x their [0].5 or
3.9[0] = their 1

M1 for their (5.5[0] x [0].2) + their (2[.00] x.[0].5) +
their (3.9[0] x 1)

M1 for

7.92 o 7.92 - theire
their 6 theirs

M1 may be implied by 10 or 25
(no. of bags/part bags of cement, sand, stone)

M2 may be implied by 55 and 195
(cost of cement, sand, stone)

M3 may be implied by 300 or 6 nfww
(total production cost)

M1 may be implied by 0.2, 0.5 0r 1 or 7.92
(no. of bags/part bags of cement, sand, stone or
price of 1 bag)

M2 may be implied by 1.1[0], 1[.00] or 3.9[0]
(cost of cement, sand, stone for 1 bag)

M3 may be implied by 6 nfuw
(total production costof 1 bag)

OCR GSCE - Tuesday 5 November 2019 - Paper 4 (Calculator) Higher Tier

49,

3 71
50

M1 for two ratios with a common number of
sherberts e.g. 14 :21 0or21: 15 or 50
and

their 21
M1 for their (14+21+15)

create a triple ratio eg 0 for

only after valid attempt to
3+7

etc
243+7+5

allow any correct method

Alternative :

M1 for 7 + 3 implied by 2.3[3...] oe or better
and

M1 for 5+ 2.3[3...] oe implied by 2.1428......

(exact= ) or 2 x 2.3[3..] oe
andeg.2:3: me;’rl?—5 (=14 :21: 15) or their
13—" :7:5

OCR GSCE - Thursday 7 November 2019 — Paper 5 (Non-Calculator) Higher Tier

50.

7 2700

4 B3 for Emma's amount = 4500 or 4050 or
old total = 7200 or newtotal = 6750
or M2 for 6k : 10k and 6k : 9k seen where k

. e 5,3
is a positive integer or for = [—]E oe seen
2

or for correct unsimplified equation to find
Emma or Sundip or the total amount

or M1 for 6k : 10k or 6k : 9k seen where k is

[P 5 3 5 3 3
a positive integer or for = or=~or ~or ~or =
3 2 8 8 5

2
or EOB seen or used

M2 implied by %
i

3E 2 . ,
eg —==(E-450)where E is Emma's
5 3

original share

For M1 accept decimal versions of
fractions




OCR GSCE - Thursday 7 November 2019 — Paper 5 (Non-Calculator) Higher Tier

51.

14

OR

M1 fory= i|:ua
Jx

B1fork =35

Accept ky = Vx

Acceptk = '?

OCR GSCE - Tuesday 21 May 2019 - Paper 4 (Calculator) Higher Tier

52.

2

20

condone 1 : 20 for 2 marks
BA1 for [50 :] 1000 oe or % ignoring units
or answer with units e.g. 20g, 1g : 20g

OCR GSCE — Tuesday 21 May 2019 — Paper 4 (Calculator) Higher Tier

53.
3 | (@ 5 . . |
—or equivalent fraction M2 for x— oe implied by e.g. [0].139,
36 3+4+5 3
L i 1eslel1eT 1o 5P
[0].1388..., 13.9%, 13.88..%, =, Le5Ie1 17 L7 T5
12 12 12 12 12
better
OR
B1 for %cr equivalent fraction or 0.416 or better
OR
3 1 L1 R
M1 for ( o m)x Tor 3 *5 oe, implied
by 1.6, 1.66[6...]. 1.67 or 1.7 or better
3 (b) 4000 M1 for 1600 + 8 or (5+7+8) + 8 implied by 200 or 2.5

OCR GSCE — Tuesday 21 May 2019 — Paper 4 (Calculator) Higher Tier

54.
16 | (a) any correct method e.g. two of accept 6 for /36 etc
v x+x =16 x4/4=12,3x+16 =12, 2x 4/36= 12 0e M1 for correct method with one error or omission or
uses y =i_ to find k=12 or one cf[yxy'{__- =186 Mf'_=
=
or 1 12,3 x4/16 = 12, 2 x 436 = 12
use one pair to find y = — and check with another
X alternative method : show x is x 4 and x 9 and y is + 2
pair and + 3.
16 | (b) a =@oe condone answer of a E for 2 marks or
M1 for a= ;—;oe implied by 3.75 = :—:
BA1 for [k =] 60




OCR GSCE — Thursday 6 June 2019 — Paper 5 (Non-Calculator) Higher Tier

55.

(a)

B2 for 6.5 or 6%0@

or M1 for

their (106 —80)
— 08

For M1 accept attempted repeated
subtraction from 106 to 80 or from 26 to 0
or repeated addition of 4 from 80 to 106 or
from 0 to 26 condone 1 emor

At least 4 correct additions or subtractions
needed soi FT one error

(b)

Fewer days oe 1

e.g. smaller, less, days would be shorter,
would decrease,

ignore reference to numbers of days if
lower

OCR GSCE — Tuesday 6 November 2018 — Paper 4 (Calculator) Higher Tier

56.
2 |(a) a correct distance conversion e.g. M1 accept any correct method
400 + 1000 or [0].4 or 5 x 1000 or
5000
M1
a scale factor e.g. 5{000] + 400 soi
figs 125 or 840 + 66 so0i 12.727... or
12.73 or figs 127
M1
correct time conversion e.g. 14 = 60
or 840 or 66 + 60 or 1[m] 6[s] or 1.1
or 825 + 60
A1 Dep on M3
correct figures e.g.
13.750r13.7 0or 13.8 [14]
5.09...0r51 [5]
5090[. ...] or 5100 5000
825 840
12.5 12.7...
5950r5.90r6 6.06... or
6.1
(b) an acceptable response e.g. 1 Accept any correct reason must not

[he will not maintain this rate
because] he will get tired

be contradicted.

OCR GSCE - Tuesday 6 November 2018 — Paper 4 (Calculator) Higher Tier

57.

14

120
y=— oe
x

k
M1 for y = —oe
Jx

B1 for [k =] 120

e.g. condone y = i‘_; for M1

OCR GSCE — Tuesday 6 November 2018 — Paper 4 (Calculator) Higher Tier

58.




accept any correct method e.g.

B1 probability notation e.g.
P(R~ M) = P(R/M) x P(M)

M1 Correct method to find the probability

M1 that a male is right-handed

M1 Correct method to find the probability

M1 that a female is right-handed

A1 Must be two figures which can be

compared

If they use a table see appendix
based on 100

Could be table or the correct | Award

B3 for all red elements in table
correct, B2 for 3 or 4 correct, B1 for
2 correct

M1 for Prop.( F) = 25+33.333 or
0.75

M1 for Prop.(M) = 40+66.666 or 0.6

OCR GSCE — Thursday 8 November 2018 — Paper 5 (Non-Calculator) Higher Tier

59.

No and she can only get 12[.5] strips
nfww
or

No andBISLoe [> 30] oe nfww

25 1
B3 for12.5or —-oeor 3 1509
4
or B2 for 28; oe seen
|
or 1-oe
5
150 12

5
or for 30 x— oe or — + — oe
12 5 5

2
or M1 for 3();.2%09 or 13 x2§oe

Amount of material used for 12 strips
Amount left over from 12 strips

For M1 accept attempt for repeated
addition of 2% oe to make 30 (at least 3

repeats)
condone 1 error in the addition

OCR GSCE — Thursday 8 November 2018 — Paper 5 (Non-Calculator) Higher Tier

60.

17

3:2 nfww

B3 for 15 [shaded] and 10 [unshaded]
or M2 for 52— 42 oe or 42 - 12 pe
or M1 for 42 or 57 oe seen

OCR GSCE — Monday 12 November 2018 — Paper 6 (Calculator) Higher Tier

61.

3rs

M3 for 1025 + (5k + 15k + 21k) x
15k oe

or

M2 for 1025 + (5k + 15k + 21k) oe
or

M1 for two ratios with a common
number of cashews implied by 5k
(almonds) and 21k (peanuts) seen,
k=0

orfor5:15[21]or[5:]15: 21 0or
41 seen

M3 implied by 125, 375, 525 with 375 not
selected




OCR GSCE — Monday 12 November 2018 — Paper 6 (Calculator) Higher Tier

62.

(a)

(b)

OCR GSCE - Thursday 24 May 2018 — Paper 4 (Calculator) Higher Tier

63.
1 |((a) 250 BA for [2 :] 500 Ignore any units seen
If 0 scored SCA for answer of figs 25
b 4500
(b) M1 for 7200 [=5] soi by 900
1+2+5

OCR GSCE — Thursday 24 May 2018 - Paper 4 (Calculator) Higher Tier

64.

1"

32.25

accept any correct method e.g.
B1 for 1.15

M1 for y = k(1.15 x x)?

M1 for (1.15% -1) [x 100] or [0].3225
OR

B2 for 1.15% or 1.3225 or B1 for 1.15

M1 for (1.15% -1) [x 100] or [0].3225

If 0 scored award B1 for y = kx*

accept if k replace by a numerical
value

OCR GSCE — Thursday 7 June 2018 - Paper 5 (Non - Calculator) Higher Tier

65.
10 | (a) 440 M2 for 165 +3 = 8
or M1 for 165 is ‘I—gsoi
or for 165 + 3 soi M1 implied by 55 or 275 seen
If 0 scored, SC1 for answer 264 (from 165 + 5 x 8)
(b) Correct comment Any statement that implies the assumption | e.g. Speed stays the same

that the rate of petrol consumption
remains constant

Same type of roads

The car uses fuel at the same rate
Does not get stuck in traffic
Weather stays the same

See AG




OCR GSCE - Thursday 7 June 2018 — Paper 5 (Non - Calculator) Higher Tier

66.

14

3 nfww

B4 for 4r' = 108 or better
or B3 for Fh = 108

or M3 for zx2?x9= %::rzﬁtr oe

2
or for zx2%x9= 1,7 EJ hoe
314

or B2 for 36z
or M1 for = =22 x9or better

or B1 for 4ror % seen

nfww - must check method before giving
5 marks must not come from wrong
working

Condone use of other letter for r (or h)
eg. x

For method marks allow use of 3.14,
3.142 or 22/7 for =

OCR GSCE — Tuesday 12 June 2018 — Paper 6 (Calculator) Higher Tier

67.

2

18 nfww

B1 for [green] 36
or
ratio(s) equivalentto 5: 9 : 36

AND

M2for __teird . .o
their (5+9 + 36)

or

M1 for their (5 + 9 + 36) soi

For B1 accept 5: 36 or 9: 36

or

ratio(s) involving a common term for blue
eg10:18and 18:72

eg1:18:72

5. .41

eg 2 :1[ 4

93 [:4]

(decimals should be accurate rot to 3 figs)

Their (5 + 9 + 36) must come from a ratio {or
ratios) with a common term.

1+4+5+9=19 followed by %scores 0.

OCR GSCE - Tuesday 12 June 2018 — Paper 6 (Calculator) Higher Tier

68.

0.1 oe nfww

M2 for80 = 0.04 =yx320r3.2=
32yory=32 oe
3z

OR
M1 for 80 x 0.04 soi by 3.2 or?

ko
or ¥ =— soi
X

OCR GSCE — Tuesday 12 June 2018 — Paper 6 (Calculator) Higher Tier

69.




14 | (a)

21.45 x 4663 = 100000 = 1.0002[1.]
(km)

ar

21.45 x 4663 =
100020 to 100021.4 > 100000 (cm)

ar.
100 000 + 21.45 = 4662[.0..] < 4663
or
100 000 + 4663 = 21.44[5..] <21.45

Note the first method does not require a
comparison against 1 (km)

B1 for (minimum length =) 21.45
seen

B1 for 1 km = 100 000 cm soi

oe such as + 100 then + 1000

or use of

1m = 100cm and 1km = 1000m if
working in metres.

M1 for

their 21.45 = 4663 (+ 100 000)
or

100 000 + their 21.45

or

100 000 + 4663

If MO scored, allow SC1 for

k x 4663 (+ 100 000)

or

100 000 + k

with k in the range 10.25 to 10.35 or
6.45 to 6.55

Allow access to all marks if brick and 1km
are in consistent units.

Allow these conversions even with their
volume or surface area.

eg21.5x=10.3 x 6.5=1439.425
cm/cm?/em® = 0.014394 25 km

their 21.45 must be in the range 21.45 to
21.55 but accept equivalent if attempting the
unit conversion first

eg BOBOMA1 for 21.5 cm = 0.0215km
followed by 0.0215 x 4663

Thus, use of width or height of the brick may
score B0,B1,SC1 whereas use of volume
may score B0/1,B1,SC0

Accept equivalent if working in m or km

(b)

7017 to 7020

B1 for 20 000 or 2.849[...] or 2.85
or 0.0028[...] seen

M1 for their 20 000 + their 2.85 or
20 + their 0.00285

Ignore other bound

ie a division after an attempt to reach
consistent units

their 2.85 must be in the range 2.75 to 2.85
inc.; their 0.00285 must be in the range
0.00275 to 0.00285.

BOMO for 20 + 2.8 as no attempt to reach
consistent units

(ii) [The truck may not have enough room

oe
Safety regulations may not allow it

Mark their best reason.

0 for we do not know the exact weight of the
bricks oe

0 for because the truck may need to carry
other loads

0 there may not be enough bricks available

OCR GSCE — Tuesday 2 November 2017 — Paper 4 (Calculator) Higher Tier

70.

93+30r310r100+30r33.3..0r
55+ 1.550r 3300 + 93 or 35.5 or
3548...0r55+930r0.60r0.59...

theird1 = 100 or 3100 or theird3.3...
= 93 or their3d5.5 x 3

their3100 + 60 soi by 51.6[6..] or
51.7 or 52 or 51[min] 40[sec] or 55 x
60 soi 3300 or 106[.5] or 106.45...

106.45 or 106[.5] > 100 or
51.6[6]....or 51.7 or 52 or 51[min]
40[sec] <55or

31[00] < 33[00] or

So he can swim that distance

accept any correct method

values required

Conclusion or comparison of correct

e.g. 106.45 lengths in 55 mins

take breaks

(b) he swims at the same rate accept any correct statement e.g. he See appendices
does not slow down, no breaks
(c) he will get tired/he will slow down/not accept any correct statement See appendices




OCR GSCE - Tuesday 2 November 2017 — Paper 4 (Calculator) Higher Tier

71.

21

4 B1for6 and 9

M1 for their (6 = 5)
M1 for their (6x5) — their 9

implied by 6:30

OCR GSCE — Tuesday 2 November 2017 — Paper 4 (Calculator) Higher Tier

72.

1

80
y=—oe

M1 for y = i oe
i

BA for k = 80

implied by 5 = _i oe

OCR GSCE — Tuesday 6 November 2017 — Paper 5 (Non - Calculator) Higher Tier

73.
8 |(a) 180+ (1+2+3) = 3[=90] 2 M1 for 180+ (1+2+3) Condone G for1+2+3
If 0 scored, SCA1 for angles 30, 60, 90
(b) 7.5 4 B1 for sin 30° or cos 60° = ¥ soi

M2 for 15 sin 30 oe
or M1 for x/15 = sin 30 oe

OCR GSCE — Tuesday 6 November 2017 — Paper 5 (Non - Calculator) Higher Tier

74,

9

80

M3 for 250 + (8k +10k + 7k) » Bk oe

or M2 for 250 + (8k +10k + Tk) oe

or M1 for two ratios with a common number
of women implied by 8k (men) and 7k
(children) seen, k>0
orfor8:10[:7]or[4:]15:3.5 seen

M3 implied by 80 , 100, 70 with 80
not selected

e.g. 08and0.7,4and 3.5

OCR GSCE — Wednesday 8 November 2017 — Paper 6 (Calculator) Higher Tier

75.
6 i 1 i
@1 1 of Bag A's counters [are red)] Accept1:4 = 1 Eggilr:?allesms may be percentages or
5 5
or Eg. Bag A: 20% red, Bag B: 25%
The ratio of red to yellow in Bag B is 1:3 Accept % =1:3 red.
(ii) Correct answer is any integer multiple of 3 B1 for (Bag A) yellow = 4 x red 8 32

this. and A total = B total 10 30

Red Yellow
Bag A 4 16
Bag B 5 15

B1 for (Bag B) yellow = 3 x red

If 0 scored SC2 for correct figures but
transposed horizontally




(b)

20 nfww

3 B1 for two ratios equivalent to 3:4

M1 for their 15:20 reduced
to (15-3):20

Alternative approach

B1 for two fractions equivalent to %

M1 for their % reduced to 15—

6:8, 9:12, 12116, 15:20....

their 15:20 any ratio but not 3:4

using equivalent fractions:

EEmEmEmE
992%21%28% 3

their 15 any fraction but not E
35 7

OCR GSCE — Wednesday 8 November 2017 — Paper 6 (Calculator) Higher Tier

76.

13

(a)

1.4355 or 1.436 or 1.44

2 M1 for 16.5 x 87 possibly soi by figs

14355, 1436 or 144

(b)

Yes (Trevor is correct) because
Eg 220 + 87° x 100° = 334.[....] or
334 x 87° + 100° = 219.9... to 220

3 M2 for 220 + 87° x 100°
or 334 = 87° + 100°

OR

BA1 for 87° or 658503 or 100° or
1000000 soi

OCR GSCE - Thursday 8 June 2017 — Paper 5 (Non - Calculator) Higher Tier

77.

§3-

A - Yes with appropriate reasoning
involving rounding and correct
simplificationto 3: 8or3 :11

or 8 : 11 or ratios reversed

OR

B - Yes it is approximately correct oe
and simplification of 6400 : 16200 to
32:81

OR

C - Yes with a correctly evaluated
calculation using e.g. ratio 3 : 8 with
a comparison comment

OR

D - Yes and e.g. 16200 + 8 and
6400 + 3 correctly evaluated

M2 eg for showing 6000 : 16000 and
reducing to 3 : 8 or for appropriate
rounding at some stage in correctly
simplifying ratio leadingto 3 : 8 isw

or reduces 6400 : 16200 to 32 : 81 isw
or reduces 6400 : 22600 to 32 : 113 isw

or for ratio calculation leading to one of the
following values seen

6075, 6163 to 6165, 16436 to16440,
17066 to 17067 or 22275

or 23463 to 23467 seen isw

or for 2025 and 2133 to 2134 seen isw
or 2025 and 2054 to 2055 seen isw

or 2133 to 2134 and 2054 to 2055 seen
isw

Or M1 for 6000 or 16 000 or 20000

or 22000 or 23000 seen

or for appropriate rounding of one number
at some stage in simplifying ratio

or for intention to find gof 16200
or for %of 6400 or% of (16200 + 6400)

or% of (16200 + 6400) isw

or for 6400 + 3 and one of 16 200 + 8 or
(6400 + 16 200) + 11 seen isw

or 16200 + 8 and (8400 + 16200)+ 11
seen isw

For all marks accept method with
equivalent fractions or decimals [3sf or
better]

Allow equivalent methods working with
the totals e.g. 3: 11, condone 22600
rounded to 22000

For 3 or M2, allow clear ‘reverse’
methods working from e.g. 3 : 8 to 6000
and 16000

Accept clear working if not in ratio form
e.g. 3.2 and 8.1 shown not in ratio

The figures in the part marks column are

guidance on accuracy required for 3
marks or M2

SEE APPENDIX




OCR GSCE - Thursday 8 June 2017 — Paper 5 (Non - Calculator) Higher Tier

78.
T | (a) 22:15 2 M1 for any equivalent ratio or for two
correct ratios with a common number of
children seen implied by 22k and 15k seen | 16k : 22k implies M1
(k> 1 and an integer)
5 A t 3.66 to 3.67:2.5
Or for u:i orfor11:7.5 ccep °
32
(b) 258 3 36 3 M2 implied by 222 [ +36] not spoiled

36 + 11 [+36] 0e
3

or ((2 x 11) + (3 x 5)) x 36 + 6 [+36] oe 90 + 132 [+ 36]

M2 for 3 x5+

ar ;x.\‘=3608
6+15+22

or M1 for 36, 5or 36, 7 soi Implied by 90 or 126 or 132 or 168 seen
2 2

or 3'3—6><‘l‘lor%6)<1450i oe
3

OCR GSCE — Tuesday 13 June 2017 — Paper 6 (Calculator) Higher Tier

79.
4 4:11 ct ivalent 3
or exact equivalen 2A01.30 | B2 for i nfww oe soi by 0.26[6...] to Implied by eg 4—” evaluated where n

1 A03.1d 15 15
0.27 or answer 11 : 4 or answer 4 : 15 is their total number of students
OR NB 0.26:0.73 scores 3 marks but

2 2 0.26:0.74 only scores B2

M1 for Exg NB ifmm g—gs.cores.ltl
OR 15 3 5

B1 for %’ evaluated where n is their total

number of students

Alternative method:
[Spanish : Other : None]

B2 4 6 : 5 soi
OR
Spanish : Other [ None]
M1 2 : 3 [ 2§ 0 for just 2 : 3 without labelling

OCR GSCE - Tuesday 13 June 2017 - Paper 6 (Calculator) Higher Tier

80.
12 4 B3 for one value correct Do not follow through mis-reads.
1A01.1
X 10 6 [#] 15 3A013a | Ao

M2 for 9 x 10% = y x 6% ce
or9x10°=4x x* oe

OR
M1 for 9 x 10° or y:iz s0i
x

OCR GSCE — Sample Papers — Paper 4 (Calculator) Higher Tier

81.



23.6-238

Accept 24 provided full method shown

1 AD1.3b
2 AD3.1c

M2 for 329x130
18x100
Or
M1 for any two of 328 or 130 or
100 100
329

—— or 329 x 130
18

May be done in stages

OCR GSCE - Sample Papers — Paper 4 (Calculator) Higher Tier

81.
4 |(a)| (i) | Any straight line through the origin 2 B1 for a straight line
e.q. 1A01.1
1.A02.3b
(i) 2 B1 for a cubic with two turning points
14011
/ 1 A02.3b
S
(b) | (i) | Atleast one point plotted correctly 1
1 A02.3b
(ii) 3 B2 for at least 5 points correctly
1A02.3b | plotted
1A031b | Ap
1A03.2
B1 for at least 3 points correctly
plotted
AND
B1 for curve drawn through their
points

OCR GSCE - Sample Papers — Paper 5 (Non - Calculator) Higher Tier

82.
4 | (a) 400g 2 M1 for 9 soi
200 g 1A01.3a
2300 1 AD3.1c
9
(b) Profit = £18.20 5 M1 Multiply their weights by 5
2A01.3b | M1 Find number of each required
2 AD3.1d .
1 AC33 M1* calculate total cost
*M1 dep subtract from £60




OCR GSCE - Sample Papers — Paper 5 (Non - Calculator) Higher Tier

83.

19

2 AD1.3b
4 AD3.Ad

M1 for (x + 20) : (y+ 20)=5:2
or(x-=5):(y-5)=5:1

At for X120
y+20

5
=-— oe
2

x-5_5
y-5 1
M1 for solving their simultaneous
equations

A1 forx=80o0ory=20

A1 for oe

AQA GSCE - Tuesday 19 May 2020 — Paper 1 (Non - Calculator) Higher Tier

84.

Do not accept wrong notation
for ratio in the final mark,
e.g. for 4/1, 4, etc




10

Alternative method 1

2400+ @+ oe accept 1 of 2400
or 2400 ~ 8 M1 8
or 300
5 x their 300 or 1500 oe
or
3 = their 300 or 900 M1dep
or
their 300+ 6 or 50
5 x their 300 + 6 oe
or
(2400 — 3 = their 300) + & Midep
or
1500 = 6
250 Al
Alternative method 2
2400 = 6 or 400 M1 oe
their 400 + (3 +5) or 50 Midep | oe 2400 + 48 scores M1M1
5 = their 50 oe
_ M1dep
or 400 — (3 = their 50)
250 A

Additional Guidance

Answer 400 with 1500 or 900 in working M1M1MOAD
Answer 400 with 250 in working M1M1M1AD
Condone incorrect representation of a division if recovered

eg 8 + 2400 = 300 M1




AQA GSCE - Tuesday 19 May 2020 - Paper 1 (Non - Calculator) Higher Tier

85.

Q

Answer

Mark

Comments

15

B1

AQA GSCE - Tuesday 19 May 2020 - Paper 1 (Non - Calculator) Higher Tier

86.
Q Answer Mark Comments
y=k or 17=4% W1 oe
E=17 + 4° oe in the form & =
or k=17 + 64
o 5 M1dep
or
17
22(a) B4
y= gﬁ or y=0.265625¢ oe equation eg 64y = 17¢°
Al sSC2
17 17 5
= —x Oofr y=— x4
e Y w4
Additional Guidance
Allow the proportion sign instead of = for M1 only
Q Answer Mark Comments
22(b) + 2 B1

AQA GSCE - Thursday 4 June 2020 — Paper 2 (Calculator) Higher Tier

87.




40 (women) and 44 (men) oe

and No B1 40 (women) and 44 (men)

or or 40 : 44

40 : 44 and No or 84

or B2 or 8 (women leave) and 2 (men arrive)
84 and No

ar

8 (women leave) and 2 (men arrive)
and No

Additional Guidance

MNB 84 from incorrect working eg 41 +43 =584 BO
For B1 the values may be seen among others
egl 20:22 30:33 40:44 50:55
eg2 21,42, 63, 84, 105, ...
B1

eg3 10, 20, 30, 40, 50, ... and 11, 22, 33, 44, 55, ...

44 .
egd — (implies 84
g 34{ p )

For B2 the value(s) must be chosen by eg circling or a list stopping at
that point and Mo must be indicated

AQA GSCE - Tuesday 21 May 2019 - Paper 1 (Non - Calculator) Higher Tier

88.

2] B1

AQA GSCE - Tuesday 21 May 2019 - Paper 1 (Non - Calculator) Higher Tier

89.




Alternative method 1

330 =(T+4) or 30 M1 oe
T > their 30 or 210 o
and Midep

4 x their 30 or 120

45 Al

Alternative method 2

330 =(7T+4) or 30 M1 oe
(7T =4) = their 30 or 20 Midep | oe
45 Al

Alternative method 3

" 330 =(T+4) or 30 M1 oe
T = their 30 or 210 oe
or 4 x their 30 or 120

Midep
and
330+ 2 or 165
45 Al
Alternative method 4
A30=(T+4) or 30 M1 oe
their 30 = 1.5 Midep | oe
45 Al

Additional Guidance

AQA GSCE - Thursday 6 June 2019 — Paper 2 (Calculator) Higher Tier
90.

5:2 B1

3 Additional Guidance




AQA GSCE — Thursday 6 June 2019 — Paper 2 (Calculator) Higher Tier

91.

11

Alternative method 1

(65% =) E
20 i
or 7:13
13 Al must be selected as the answer
Alternative method 2
(100 =35)+35 =7 oe eg 35+7=5and B5+5
ar M1
T+35=100-7 or 20-7
13 Al must be selected as the answer
Alternative method 3
3?5 x n=100 - 35 oe equation
T 35
M1 —_—
or Sn=65 = n 100-35
or 35n = 455
13 Al must be selected as the answer
Additional Guidance
35 : 65 with no other valid working MO
Condone answer £13 M1A1
Answer 13% or 13n M1AD
65% = 0.65 MO

Alt2 B65+35=19

1.8 = 7 =133 (evidence of premature approximation) M1
Answer 13 Al
AltZ B65+35=19 1

19=7=13 (assume full calculator value used) Al




AQA GSCE — Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier
92.

(200 + 160 + 104 + 100) + 4 M1
or 564 +4 or 141
their 141 =3 = & oe
or 47 =8 accept 141 = 2.66(...) or 141 = 267
Midep
or 1128 + 3
or 376
their 376 = 5 or 1880 Midep
11
427 Al
Additional Guidance
(270 + 400 + 483 + 300 + 427) + 5 embedded answer M1 M1M1AD
(1453 + x)+ 5= 376 and 1453 +x = 1880 M1M1MA
(1453 + x)+ 5 =376 M1M1MO
200 + 160 + 104 + 100 + 4 scores M0 unless recovered

AQA GSCE - Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier
93.

Class X has a greater proportion of

boys than class Y B1

14

AQA GSCE - Tuesday 11 June 2019 — Paper 3 (Calculator) Higher Tier
94,



20(a)

dav’ oeegv= kd”*
ord =k = 1?
or 6= k=207
M1
orcxd=17
orcx*§ =20
{(k=)6+20° or 0.015 i 3
oeeg — of —
400 200
Midep
or (c =) 20° + 6 or 66.66...0r 66.67 400 . 200
6 3
d=0.015 x+* oe equation
ar Al

Additional Guidance

Working for second M mark must follow from their initial equation

da0.015 x ¥ MIM1AO
(k=) 0015 or (c=) 222 with no incorrect working MIM1A0
MAM1AD

0.0152 or % d




20(b)

their 0.015 = 30°
their 0.015 = 900

F 4
or B x E:
.20

or 30° = their % M1

wgﬂﬂ+%

207

or Ed.-:._
130

o

135
Adft

os

ft their 0.015 provided using d = their
0.015 =7

Additional Guidance

Must use x 30° or = 900 or x| 30 '; for M1

\.20
da135 M1 AD
If in part (a)
MO part (a
d=k=v G=k=x20 d=£1' part(2)
20
and in part (b)
d= E «x30, m=9 MO part (b)
20
If in part (a)
& MO part (a)
d=k=v 6 =k=x20 d=—v
! ¢ 2!31'
and in part (b)
d= 2% x30%,  d=270 M1ATft part (b)

AQA GSCE - Tuesday 6 November 2018 — Paper 1 (Non - Calculator) Higher Tier

95.




13

Alternative method 1

2=x5:3x5 or 10:15

oe common value for

and M1 2 4

eg 10:15:12 or — :1: —
5x3:4x3 or 15:12 3 5
10:12 oe unsimplified ratio

Midep

condone fractions or decimals
5:6 Al
Alternative method 2
3¢ = 2fand 4= 5g M1 oe equations
Be = 5g Midep | o= equation
5:6 Al

Additional Guidance

Vanables in an otherwise comect answer:

the same variable scores 2 marks, eg 5/ 6f

different variables do not score, unless earlier marks can be awarded,

eg Se : Bg with no working worth M1 or M101

AQA GSCE — Tuesday 6 November 2018 — Paper 1 (Non - Calculator) Higher Tier

96.

Alternative method 1
J4:49 or2:3 M1 length A : length B
30 + their 3 = their 2 or 20 Midep | length A
480 + their 20 or 24 M1dep | area cross section A
their24 +4 =9 Midep
o4 Al

s Alternative method 2
J4: 403 or 2:3 M1 length A : length B
{ﬁf:[ﬁf or 8:27 Midep | volume A : volume B
480 + their 8 = their 27 or 1620 Midep | volume B
their 1620 + 30 Midep
a4 Al

MIM1AD

MOMOAD




AQA GSCE - Thursday 8 November 2018 — Paper 2 (Calculator) Higher Tier
97.

Alternative method 1

45+ (22 +3) or 45+ 25 or 1.8 A5
M1 oe eg —

22 xtheir 1.8 or 3896
ar Midep
3xtheir1.8 or 54

their 39.6 = 596 + their 5.4 = 7.31

M1dep
or [354, 355] + [39, 40]
394.29 or 394.3 A
15 Alternative method 2
45+ (22 +3) or 45+ 25 or 1.8 i D-eegﬁ

their 1.8 = B96 or [16.1, 16.13]
ar Midep
their 1.8 = 7.31 or [13.1, 13.2]

their [16.1, 16.13] = 22
+their [13.1, 13.2] = 3 Midep
or [354, 355] + [39, 40]

39429 or 394.3 Al

Alternative method and Additional Guidance continued on the next page



15
cont

Alternative method 3

45+(22+3) or 45+25 or 1.8

M1 —
oe eg 5%
22 %896 or [197, 197.12]
ar M1
3= 7.31 or [21.9,22]
their [197, 197 .12] = their 1.8 oe
+ their [21.9, 22] = their 1.8 Midep | dep on M1M1
or [354, 355] + [39, 40)
394 29 or 3943 Al

Additional Guidance

Allow up to M2 even if not subsequently used

Ignore units throughout

AQA GSCE - Thursday 8 November 2018 — Paper 2 (Calculator) Higher Tier

98.




21(a)

Alternative method 1

k oe equation
Ve —
J; M1 implied by 4 =i oe
J9
(k=)4 x4[9 or (k=)12 Midep | o
12 oe equation
V= — Al
T
Alternative method 2
1 oe equation
ky = T
* 1 implied by 4k =L e
N5
1 oe
(k=) & +4 or (k=) — M1dep
1 = 1 A oe equation
2’ !
Additional Guidance
Alt1 (k=)12or (ka)12 with no incorrect working MM

Condone use of a for up to M1M1AD

eg (Alt 1)
k
ya—— M1
T
ka2 Midep
I'GE Al
Jx
ve 12 e MIMIAT




AQA GSCE — Monday 12 November 2018 — Paper 3 (Calculator) Higher Tier
99.

21(b)

12 or their & M1 oe
J25 J25 their & from (a)
24 or 12 or 2E Alft ft their &

5 9 S

Additional Guidance

yaz4 M1AD
2
I T
V= ——inl(a)
Ty
4
3 M1
+/25
Alft

% (allow [0.266, 0.267])




15

IxrxBxI? ar 3527 Area of lampshade A
or [1105, 1106 " L
2= =008=022 or 003527
or [0.1105, 0.1108)
1 Area of lampshade B
4x — x15=x24 or 720 psh
2 oe
1
1
4 = E * 015 =024 or 0.072
their 352 + their 720 + their 0.03527T * their 0.072 = 400
1007 x 400 100° = 400 400
ar or or or
28 8(0) 14.08m 28.8(0)
14087 M1dep
or
of
44 2 44 24
[44.2, 44 24) [ ]
dep on 1st M1 dep on 2nd M1
their 14087 + 3.50 dep on M3 and method for fabric cost for
477 47.74 both lampshades correct
ar [47.7,47.74] Midep
and
their 28.8(0) + 7.5(0) or 36.3(0)
1.3(1.9:1 or 1.32:1 A

Additional Guidance

1:13{(1..) er 1:

1.32

M4AD

AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier

100.
(x=)3and (y=)2 B1
in correct positions '
y = 24 or 4= x ork=24 oe
B2 ’ x 6
or (x =) 3 in correct position above &
10 or (v =) 2 in correct position below 12

Additional Guidance

1 1
yv=—ords= B oe followed by & ZE' with no or incorrect values

kx
in table

B1




AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier

101.

At least 3 correct pairs from oe

15 and 16 pairs may be seen as ratios

20 and 20

25 and 24

30 and 28

35 and 32

40 and 36

or M1

810 + Sn) = 10(12 + 4n) oe equation, where n is the number of
new rows (correct answer is 6)

or

9(5n) = 10(4n + 4) oe equation, where » is the total number

14(a) or of rows (correct answer is 8)

9(5 + 5n) = 10(8 + 4n) oe equation, where n is the number of
new rows after Pattern A (comect answer

ar .
isT)

7 rows added to A not implied by answer 7

& Al

Additional Guidance

6 with no incorrect working M1A1
7 or 8 with no working MOAD
Multiplication of ratio with no working worthy of M1 MOAD
eg 10:9 20:18 30:27 40:386




14(b)

Alternative method 1

12 + 20 or 0.6(0) M1 oe
their 0.6(0) = 3+ 2 or 0.9(0) oe

M1dep
or 14.4(0) or 26.4
26.40 Al correct money notation
Alternative method 2
12=x3+2 or 18 M1 oe
their 18 + 20 or 0.9(0) oe
or M1idep
their1é8+5=x4 or 14.40) or 26.4
26.40 Al correct money notation
Alternative method 3
12+ 5% 4 or 9.6(0) M1 oe
their 9.6(0) = 3+ 2 oe

M1dep
or 14.4(0) or 26.4
26.40 Al correct money notation
Alternative method 4
16+2=3 or 24 or 44 M1 oe
their 24 = 12 + 20 or 14.4(0) oe
or M1dep
their 44 = 12+ 20 or 264
26.40 Al correct money notation

Additional Guidance

Condone 26.40p MIM1AT
20 +12 or 1.66... or 1.67 with no working that is worthy of M1 MOMOAD
£18 from using £12 as the cost of one line (may give a total of £528) M1MO0AD

AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier

102.

16

B1

AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier

103.




26

Alternative method 1

4 2

- =:1 M1

5 3

12 10 15 oe common denominator

15 15 15 Midep | implied by correct unsimplified ratio
eg24:20:30

12 - 10 : 15 Al

Alternative method 2

ac=4:50r bh:c=2:3 MA oe may be seen as part of a ratio with
three values

a:c=12:15 and b:c=10:15 Midep | oe with ¢ values equal

12 - 10 : 15 Al

Alternative method 3

(S5a =) 6b = 4c

5 § 6 6 M1
or 1: —:— or —:1: — oe rabio
6 4 5 4

12 10 15 . 24 20 30 oe common denominator

12 12 12 20 20 20 M1idep | implied by correct unsimplified ratio
eg 24 :20: 30

12 1 10 : 15 Al

Alternative method 4

Picks values so that g is four fifths eg (a=)60, (h=)50 (c=)75

of ¢ and b is two thirds of ¢ M1

10

(a =)4, (b=) ?,{t_‘ =5

Correct ratio for their values as 80 - 50 - 12 10 15

integers or fractions with a common | Midep eg 60:30:75 or 3 53 "3

denominator

12 - 10 : 15 Al

AQA GSCE — Thursday 7 June 2018 — Paper 2 (Calculator) Higher Tier

104.

B1

Additional Guidance




AQA GSCE - Thursday 7 June 2018 — Paper 2 (Calculator) Higher Tier

105.

Alternative method 1

22 5(0) and 4
or

27 and 8

or

31.5(0) and 12
or

36 and 16

or

40.5(0) and 20
or

45 and 24

or

an:16

or

45 24

M1

45 and 24 chosen

Al

eg 45 : 24 is the final ratio seen

=

Al

Mark scheme and additional guidance continues on the next page




cont

Alternative method 2

18 + 4 57 and 4x seen any letter
o 184450 _ dx M1 | oe

15 8 sets up correct equation
B(18 + 4 5x) = B0x eliminates denominators
or 144 + 36y = 60x Midep | D€
or 24x = 144
& A

Additional Guidance

Answer 6 that is not from incomrect method M1A1A1
45 and 24 followed by eg 49.5(0) and 28 (answer not &) M1 ADAD
Equivalent ratio to 15: 8 thatis not 30 : 16 or45:24  eg60: 32 MOADAD
(answer not 6)

Final calculation % x 24 =45 (answer not §) M1A1AD

AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier

106.

+ 2

B1

AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier

107.




13

Alternative maethod 1

BB+ (T+4)orBB+110or8 M1 o 11=8=838
their 8 = 7 and their 8 = 4 o
or their 8 x 7 and 88 = their value eg 8=7 =63 and 88 - 63
or their 8 x 4 and B8 — their value eg 8x4=30and 88 - 30
Midep
or 56 and 32
or their 8 x {7 = 4)
or their 8 = 3
24 Al
Alternative method 2
One comectly evaluated trial for two eg 7O+ 40=110
numbers, other than 7 and 4, in the A1
ratio 7 : 4
56 and 32 Midep |eq 56+ 32 =88
24 Al
Alternative method 3 using x @ v =7 : 4 (correct)
dr =Ty dx=Ty oe
and and iy forming eguation from ratio and equating
dx+dy =352 | Tx+7y =616 coefficients
11y =352 11x =616 oe
Midep . )
ory =32 orx =56 equation in one variable
24 Al
Alternative method 4 using x : v =4 : 7 (incomect)
Tx=4y Tr=4y 0B
and and M1 forming eguation from ratio and equating
fficients
dx+4y =352 | Tx+Ty =616 costiicien
11x =352 11y =616 oe
’ Midep . )
orx =32 ory =58 equation in one variable
their answer A




13
cont

Alternative method 5 using x : v =7 : 4 (commect)

X ==y Of ¥= =X

| =l
]

orx=88-y or y=88-x

oe
making one variable the subject

E+1'=E!-E!- Dlu V= B8
4 4

or x + ‘;—xZBBDI 1—;.1'=EE-

oe
equation in one variable

24
Alternative method 6 using x : v =4 : 7 (incomect)
7 4 oe
V2= Or 1==y
4 L making one variable the subject

orx=88-y or y=88-x

E +x =88 or u.r=ﬁﬁ
4 4

Dr‘r*ir:EBDrur:ﬁﬁ
) 7" 7

oe

equation in one variable

their answer

Additional Guidance
~24 with no incorrect working implies 56 and 32 MAM1AD
x=32and y=56 M1M1AD

AQA GSCE - Thursday 6 November 2017 — Paper 2 (Calculator) Higher Tier

108.




20

Alternative method 1

h=h? or 5=kx=10°

M oe
1
or 5+107 or 5:10°
(k=) - or (k=) 0.05 oe
20 A Correct value for &
1
or h= L v oar b= 0052 or correct equation in i and v
20
1 7 oe
their— = 24
20 M1dep 1 "
— x 24° implies M1A1M1
20
288 Alft ft their & and M1A0M1
Alternative method 2
kh=1% or kx5=10° oe
5 M1
or 10°+5 or 10°:5
(k=)20 or 20k=1" oe
A Correct value for & or cormect equation
or comect equation in f and v
24? + their 20 oe
Midep s
24° + 20 implies M1A1TM1
288 Alft ft their & and M1A0M1

Mark scheme continues on the next page

Additional Guidance is on the next page




20

Alternative method 3

(24 576 oe

= oor =2 or 24%-10° M1

10 100

h i 32 oB

h_(24 A1

5 110/ Caorrect equation in A
P oe

5 x their | 2= |
L 10 ) M1dep

raasd
5x !%| implies M1A1M1

28.8 242
Alft f'ttheir|ﬁ| and M1AOM1

Alternative method 4

(107" 100 oe
—| or = or 107 247 M1
24 ) 576
[ i 32 oB
— El A']
h 24 Caorrect equation in A
P oe
5 + their| 10 y ,
1de ETi R
P 5+|;_“' implies M1ATM1
288

24
Alft f'ttheir|ﬁ| and M1AOM1

Additional Guidance

ha+* with no further valid working

Zero

k
h=hkvorh=hkhlor h= — etc not recovered
v

Zero

Up to first two marks can be awarded for comrect working even if not
subsequently used

Allow use of other letters




AQA GSCE — Wednesday 8 November 2017 — Paper 3 (Calculator) Higher Tier

109.

1:2

B1

Additional Guidance

AQA GSCE — Wednesday 8 November 2017 — Paper 3 (Calculator) Higher Tier

110.
13 =5 — 4152 os
or 8 — 4152 eg
M1
4152 = 8 or 519 seen
or 8 parts is 4152
x + 4152 _ E oe
x 5]
or Sy + 20 760 = 13x
or 20 760 = Bx
or 2595=x
17 Midep
or (number of men =) 6747
or (number of women =) 2595
or (total number of people =) 12 926
ordi152+8=Tor519 =7
3633 Al

Additional Guidance

AQA GSCE — Wednesday 8 November 2017 — Paper 3 (Calculator) Higher Tier

111.




24

Alternative method 1

4 =9h oe
M g g
B4
‘m:ng 40a = 90h oe
10 and 904 = B3¢ Midep g- 40
or 40a = 63c 7
63:40 Acoept%:1or1.5?5:1
Al
Dr1'£
" B3
Alternative method 2
b:c=7:10 M1
a:h=63:90and b:c=90:40 oe common value for b
M1dep
or 63:90:40
63:40 A tE:s 1 1575:1
coept —: 1ori. :
P %0
Al

40

orl: —
683




24 cont

Alternative method 3

a= 2 oo 100 M1
4
95 106 __ 9 10 o
7T i Midep
63 : 40
.IE'.CCED[EZ'IBF'l.ETEZ'l
40
Al
.40
orl: —
63
Alternative method 4
10
c Th M1 ng!:r_‘:n!.l':glﬁ
9 10 a-tc'h:rr‘.EI:d'T—EI Midep s
63 : 40 Accept 83 yor1575:1
40
Ad
orl: ﬂ
T 63

Additional Guidance

2™ method mark is for a link between a and ¢ or a correct ratio in an

unsimplified form

40 : 63 on answer ling

M1M1AD

AQA GSCE — Wednesday 25 May 2017 — Paper 1 (Non - Calculator) Higher Tier

112.

:’:ui:-‘.E of a
4

B1

AQA GSCE - Thursday 8 June 2017 — Paper 2 (Calculator) Higher Tier

113.




17

Alternative method 1

50=1.2 or 60 oe
M1 length of Q
May be on the diagram
S0=x =09 or 45 =x oe
M1 area of P reduced by 10%
May be on the diagram
their 60 = y = their 45 x x oe
) _ theirds dep on M2
x  theirgd
or y : x = their 45 : their 60 1.2
: Midep | M3 ==
or equivalent ratio to 4: 3 not in 0.9
simplest form
4
or equivalent fraction to 3 not in
simplest form
3
4:3 or 1: =
4
Al

4
or 1:075 or — -1
3

Alternative method 2 and Additional Guidance continue on the next two pages
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cont

Alternative method 2

50% 1.2 or 60 oe
M1 length of Q
May be on the diagram
Chooses a value for x and reduces M oe
area of P by 10% eg(r=8) 50 x8x 0.9
their 60 = y = their area of P reduced oe
by 10% eg 60y =508 x0.9
or equivalent ratioto 4 : 3 not in _ o
. or&0y=360or (v =) 360 +60or 6
simplest form u -
4 1dep | 4 M2
or equivalent fraction to 3 not in epon
simplest form
M3 1.2
0.9
4:3 or 1: E
4
Al

4
or 1:07/5 o = :1
3

Additional Guidance continues on the next page
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cont

Additional Guidance

Allow 1.33(...) for E
3
4 : 3 in working with 3 - 4 on answer line M3A0
45
-2 M3A0
60
(At 1) 50x =60y = 0.9 M1MOMOAD
(Alt 1) 50x=60y=1.1 M1MOROAD
(Alt 1) 45x : 60y M1AM1
Answer 3 - 4 MDA
(Alt1) v:x=3:4
) M3A0
Answer 3 - 4
Alt 2 example
50 =10 =500 (working not seen for reduction by 10% but completed
correctly in next ling)
450 + B0 =7.5 (B0 here gains first M1) M1M1
M1AD

10:7.5=20:15

Do not allow misreads
eg increases length of P by 10% (instead of 20%)

Alt 2 Allow chaoice of x to be 50

AQA GSCE - Thursday 8 June 2017 — Paper 2 (Calculator) Higher Tier

114.




Alternative method 1

d=kt® or45 = | = 3° oe equation
M1
ord4s+9
d=5For (k=)5 oe equation
=) M1dep
245 imphes M2
their 5 x 10° or 500 oe
(10}
M1dep | 3 —| %45 oe
3 )
455 Al
Alternative method 2
kd=rork = 45= 37 " oe equation
or 9+ 45
0.2d=ror(k=)02 oe equation
‘ =) M1dep
245 implies M2
10° = their 0.2 or 500 oe
—
Midep (3]
M3 45+ | — | oe
|'\. 10,
455 Al
Additional Guidance
d a 2 with no further valid working Zero
3 k
d=kt ord = ki" or d= — efc not recovered Zero
i
45 : 9 with no further valid working Zero
d=5F or (k =) 5 scores M2 even if not subsequently used Mz
d =k or45 =k x 3% or 45 + 9 scores M1 even if not subsequently used M1
0.2d=ror (k =) 0.2 scores M2 even if not subseguently used Mz
kd = or k = 45 = 3% or 9 + 45 scores M1 even if not subseguently used M1
Allow use of other letters




AQA GSCE — Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
115.

Alternative method 1

Any correct sealing of the ratio 5: 2 " oe
egq 10(:)4or20 () Bor25(:) 10
225()8 oe
or 22.5 (red)
M1dep
or3o(:)12
or 12 (blue)
1 63

3MS50r31=or — Al

or > or >

Alternative method 2

9+20r45 oe
or30+5orG M1 2+=90or0.22...
S5+ 3Wor016.._or0.17

5 x their 4.5 or 22.5 08
11 ar 7 = their 4.5

or 2 = their 6 or 12
ar 7 = their 6 or 42

M1dep

31.5{::r31a|—nc:nrE Al
2 2

Alternative method 3

% * purple = blue oe % * purple = 9
M1

5 _ 5 -
= x purple = red = ® purple = 30
7 7

T o8
Ow =

2

M1dep

or 30 = z1::|r42
5

1 3
3NS5ord1- or — Al
or > or >

Additional guidance is on the next page
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cont

Additional Guidance

28+35=315 MAM1A1
28+35 M1M1AD
31.5, answer 31 M1M141
3M5+42=735 M1M 140
10 4 M1MOAD
10, 4 M1MOAD
10+ 4 M1MOAD
‘He has 2.5 times more red than blue’ M1MOAD
25:1 M1MOAD
25 MOMOAD
28 on its own MOMOAD

AQA GSCE - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier

116.

14

1
v is directly proportional to — B1
X

Additional Guidance

AQA GSCE - Sample Paper 1 (Non - Calculator) Higher Tier

117.




Alternative method 1

18+ (3+2) or 36 M1
their 3.6 = 3 x 2.8(0) or 30.24(0) M1dep
their 3.6 = 2 » 3.5(0) or 25.2(0) M1dep | dep on first M1
55.44 Al
Alternative method 2
3 x 2.8(0)+ 2 x 3.5(0) or 15.4(0) M1

10 18+ (3+2) or 36 M1
their 3.6 = their 15.4(0) M1dep dep on M1 M1
55.44 A
Alternative method 3
3% 2.8(0)+2 x 3.5(0) or 15.4(0) M1
their 15.4(0) + 5 or 3.08 M1dep
their 3.08 =« 18 M1dep
55.44 A1
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Alternative method 1
2 parts — 116 M1 oe
116 + 2 x 16 M1 oe
928 A1

10 Alternative method 2
Writes at least 3 ratios or numbers of M1 eg 18:14 and 180 : 140 and 360 : 280
boys and girls equivalentto 9:7
522 and 406 M1
928 A1
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13 125 : 27 B1
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Alternative method 1
2=k«36 or 36 =6 M1
(k=) 2 + their & or M1dep
Efiheir% or 15 (+a =) M1 oe
225 Al
Alternative method 2
2k=+36 or 36 =8 M1

20

(k=)theirG+2 or 3 M1dep
5 x their 3 or 15 (4 =) M1 oe
225 Al
Alternative method 3
2k=4/36 or 36 =6 M1
5+20or 25 M1
their 6 = their 2.5 or 15 (4o =) Midep | depon M1 M1
225 Al
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Alternative method 1

5 5 oe fraction, decimal or percentage
G+5+7T 18
M1
7 7
o ———— of —
9+7+8 24
Attempt to convert to any common Attempt to convert both to comparable
denominator form with one comrect
eg 20 and 21 o8
T2 T2
or to decimals A
eg 0.27(7...) and 0.29
eg 3 028 and 0.29)
or to percentages
eg 28% and 29%
% and 2! and Yes Al oe fractions, decimals or percentages
Alternative method 2
Chooses a number of counters that MA
is & multiple of 18 and 24 eg 72
5 x theair 72 ar 20
18
M1
or 7x D72 o0 59
24
20 and 21 and Yes Al
Alternative method 3
35:42:49 and 35:45:40 M1
35 a5
or —
35 + their 42 + their 49 126
a5 or as
35 + their 45 + their 40 120
35 and 2 and Yes A

128 120




